DASRATH’S FAMILY TREE & RELATIVES

MAITHILI KAUSHALYA DASHRATH SUMITRA
KAIKEYI
JANAK 8 2 1 4
3
ADOPTED
SITA ‘ RAM ' (BHARAT) ( ) ' SHATRUGHAN'
9 5 6 LAKSHMAN 7

1. Write the approprite number in front their names as per Family Chart

Sumitra ... Auereeneinannann Shatughan  .......... y AUUTUOR Ram ... L-JS

Sita ... Qevvreereeninnnnn Kaikeyi ~  ......... K R Dasrath ... o

Bharat ... Buvereneeenennannn Kaushalya  ......... 2 Maithili ... : S
2. Person No. 2 s ........ MOTHERINLAW. ...ttt s ee s s e of person No. 9
3. Lakshmanis ............ BROTHERMNLLAW. ....ooiiiiiiiiiirieeeeeeeeeeeeee e ennnrnesneeeeeeeeeeeeesesenannns of person No. 9
4. SUMItrais .cccocuuevennens SEERMOTHER. ... .ottt eeeee e ee e e s e s s s e of person No. 5 and

................................ MOTHER ... vuvvieeeeeiirrieeeeessiieeesesssssneeeesssssssesesssssssessessssssseneesssnnnnes OF PEISON NO. 7
5. Person No.5is....... SOMINLAW. ettt e e e e s e s e re e e e r e e e s of person No. 8

SEARCH THE WORDS

G W AHIRAVAN ASUR ATIKAYA

A—H DANDAKA INDRA KUMBHKARAN
LANKA MEGHNAD RAVANA
SURPNAKHA VIBHISHAN VISHNU

Find the word in the puzzle.
Words can go in any direction.
Words can share letter as day cross over each other.




CROSS-WORD PUZZLE

Use the clues to fill in the words above. ACROSS
Words can go across or down. 3. Ramwasincarnationof Lord...............
Letters are shared when the words intersect. 5. Who trained Ram and his brothers
B the art of war?
7. Whom does Kaikeyi wanted to be the
R next king of Ayodhya?
9. Ayodhya is nestled at the banks of
A hich river?
. . which river
J V|iI|S|H|N|U/| 10. Who was Ravana’s eldest son?
A M 11. Shri Ram belonged to which dynasty?
. - - 12. Who was cousin of Ravana?
N K VIA|S|I|SIT HA
7 DOWN
B|HARAT . . u 1. Boon of invincibility was given to
K | D SIAIRIAY| U Ravana by Lord ..............
2. Sita was daughter of ............... who
1 K A P was king of Mithila?
M E |G/ H|/N|A|ID A 4. Who forced Dasrath to send Ram to
ile for 14 years?
K exi
Y - D 6. Who was the youngest sister of
I RIA{|GIH| U/ K| U|L Ravana.
8. Name of the forest where Ram, Sita
K H . .
- and Lakshman went during exile.
A H Il RIA|V|AN
MAP PUZZLE
1. ThePondisinthe ... NOTHWEST ... .ottt e esreneans direction of the Temple.
2. Templeisin e, SOUTHEAST. ..ot direction of the Mountains.
3. Thick Forest is spread from ......ccccevvvevivevreneineenen NOTHMEST.....oiiiivienieceeeenreneses e seeeeeeens direction to ......ccccevuenene
........................................ NOTH.EAST........ccevveenenndirection of the Temple.
4. Wheat field isin .cooe e, SOQUTHEAST ..o ceee e s e direction of Volcano.
5. Sugarcane field is in ...ccvevviccinineneene, SOUTHMEST ...cooiirirrin e ceeeeeeenaes direction of the Pond but also in
....................................................... WEST.......ccceeeeeuenee.e.. direction of the Rice field.
6. Which Road is passing through the Temple?
MAINROAD NO.Z et e e et e s e st s e s es et easstessssetesaeetesaestestesnssseeasaessnnssseenssnnses
7. Write the Road network to reach the Mountains through the roads from The Forest entry point ......ccccceveeveveenene.
MAIN ROAD.NO.~LTQ. BYPASS. ROAD.NQ. ;1 AND THEN TORQAD NQ. 22 ... eee e
8. Write the road network to reach the main road 3 from the Forest entry point bypassing the Temple .........cc.c........

MAIN ROAD NO.-1 TO BYPASS ROAD NO. -4 TO ROAD NO. -6



JATAYU CHASING RAVANA

JATAYU’S LAST MESSAGE

Jatayu, though trembling and with a broken voice, indicated the direction of Ravana’s abduction of Sita. However,
his message to Ram is incomplete, with several letters missing.
Help Ram reconstruct the message by placing the appropriate letters in the corresponding boxes.
e The letters of each blank cell of the puzzle can be filled by the letters mentioned below the same column.

For eg. The First blank cell can only be filled by letters mentioned below the same column thatis: Y or O or S.
e Once the letter from the column below the blank puzzle cell is used, the same letter can’t be used again.
e Choose the appropriate letter from the respective column to rebuild a meaningful message.

Help Ram rebuild the last message of Jatayu.

“10 L|O T
DIA]|E O(N T
HlI1]S FIL o
AIW|A|Y T|O H
H Y L
W O OO A A C S I T D W
DASMTLY I R S M A UCOT I N E C A E O N



HANUMAN'’S PUZZLE

NAME SUGRIV NIEL NAL
AGE 47 37 35

Nal, Niel and Sugriv are standing in a row but not in the same order.
The person in the right most position in 35 years old.

Niel is 2 years older than Nal.

The person in the left most position is 10 year older than Niel.

Niel is in between Nal and Sugriv.

e wNR

Q. What is the age of:
a) sugriv . b,

[ R E] I— 35...

c) Niel ..ot 37....
Q. At what position is Niel standing? A) left B) right \C),middle
Q. At what position is Nal standing? A) left @}ight C) middle
Q. At what position is Sugriv standing? @,bft B) right C) middle

HANUMAN'’S STATEMENT

1. Sugriv, Angad, Niel and Vali are fighting in the same row but not in the same manner.

2. \Valiis figjting next to Sugriv.

3. Nielis not next to Sugriv.

4. Sugriv is between Vali and Angad.
5. Niel is on the left most position.

6. Vali and Sugriv are fighting against each other.



FINDING THE ROUTE

' '_j%

PUZZLE: WHERE DID RAVAN IMPRISON SITA?

Windmill Bridge Palm Trees Mango Groves Waterfall
Shiva Temple X X v’ X X
Weapon House X X X X v
Theatre Ny X X X X
Cave X X X v’ X
Ashok Vatika X N X X X




MEGHNAD’S ILLUSION

1.

Which place is this?

a) Ayodhya b}tanka c) Kiskindha
How many people were having food there?
a)d )5 c)3

What time of the day is the scene?

a) Night b) Evening c) Morning
Which season is most likely to be at this time of the year?
a) Monsoon b) Hot summer c) Spring

Which fruit have they eaten today?

\a),AppIe & Banana b) Apple & Mangoes c) Grapes & Banana

What were they discussing?

a) Ravana’s Marriage planning

c) Meeting with kings of other countries \d))(Nar strategy

d) Mithila.

d) 6

d) Noon.

d) Cold winter.

d) Banana & Mangoes.

b) Trade business profit / losses



